





Análisis de Articulo
	
	Ticagrelor
	Clopidogrel

	SICA CEST
	5530
	5625

	SICA SEST
	3141
	3182

	
	
	

	
	
	

	
	
	


Tabla de comparación de 2x2
Formulas:
Sensibilidad (S)
S= a/a+c		 S=5530/5530+3141		S=5530/8671		S=0.63
Especificidad (E)
E=d/d+b		E=3182/3182+5625		E=3182/8807		E=0.36
Valor Predictivo Positivo (VPP)
VPP=a/a+b		VPP=5530/5530+5625		VPP=5530/11155		VPP=0.49
Valor Predictivo Negativo (VPN)
VPN=d/c+d		VPN=3182/3182+3141		VPN=3182/6323		VPN=0.50
OR=a.d/b.c		OR= 5530*3182/5625*3141	OR=17596460/17668125	OR=0.99
Clo=c/c+d		Clo=3141/3141+3182		Clo=3141/6323			Clo=0.49
Cle=a/a+b		Cle=5530/5530+5625		Cle=5530/11155		Cle=0.49
RRR=CLE-Clo/ClE	RRR=0.49-0.49/0.49		RRR=0/o.49			RRR=0
[bookmark: _GoBack]RRA=Cle-CLo		RRA=0.49-0.49			RRA=0


